0002317272867999

o0 ABIZAY 6—0—>

2016 F ZEEK 28 2 [

2 | ROZEFE M X

8 28 .

(D) BAant B a1 =2, ant1 =3a, +2" (n=1, 2, 3, =) &WrTLE, =7 ] =
Thd. iz, WERELBTIE, ap + 27 =3(a,+ [ 9 D EeBRBI Db, #5 {a, O—fk
i, an = THbd. 4301 pn z

() t>0LL, kEFHESD. ;ﬁ;moa'm@ﬁwumﬁm(% %) B(z, —t) 1200,

‘]

AB=2/2THdr$3. Z0L%, t=[ 4 | THd. X5, EHMOA LD Pk, k) Zdibe§

BIICH2AA, Billsr ¥, k=[] THY, HCoO¥kri, r=[F] Ths.
3z {14 4
2

2
(1) Qn+t1 = 3Qn+2% 12n={ $4VALT, A2=3a,+2 = 8

N=28AVALT, A3=3R2+4 = 28

S Re=8,03=28
v/

An+1 = 30pn+ 2" Himc 2"™ENDAT,

fin+y T 2" = 3qn+2"+2-2"

e

:2"11"
5T, OQner+ 2% = 3an+3-2"

ﬁh-rl' + an =3 (ﬁn"'zn)

7w

3 {ant 2"} 13 ANIR 40+ 2 = 4, AL 30 % re 37
“Qnr2t= 43"

* Gn=4-3""-2"

4

(2) AB =242 &Y AB =8
: 2 2
(- F)e(-r-5)Es cartey

<

t>0 &Y, t= —;‘i

"

P(RAR)IEFIC LTS B F (>0) 0 HaBAEN 18 (x-B)'+(Y-R)' =)

s A B eI, (Fop) (E-p)'s 1t @ k2R s 0

2 2 2 2 y -m |
(1-8)]+ (-t-p)=F & 28+ 7=F =0 (:t=7 &)

@.@ 3 Ak, ﬁ:‘%@', r= 4

%




